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2014/12/13 BROARERT 11:42  #&8 T RERY 11:45
JEGZ  No. BFZ IRA #R-IEBE  $v97 b o8k YL e
1 4111 HA =h KSC 1-1 B 49.76 0.00
2 4116 E#E BEX FiE 1-2 Din 51.20 1.44
3 4112 g 2% KSC 1-3 2 51.88 2.12
4 4105 HE &EK 0Ssc 1-4 % 55.24 5.48
5 4121 B ¥AFF My Uy 1-5 & 55.26 5.50
6 4104 R KA #&J 1-6 = 55.64 5.88
7 4122 HBHK ®IE My vy 2-1 =] 56.01 6.25
8 4110 kX X&E EIME 2-2 Din 56.13 6.37
9 4115 J\K @ FiE 1-7 =P 56.14 6.38
10 4120 g XK Y vy 2-3 & 56.31 6.55
11 4123 KR @t 215 2-4 = 57.18 7.42
12 4114 £k BiE KSSC 1-8 % 57.44 7.68
13 4113 %%H RiE KSSC 2-5 = 58.57 8.81
14 4119 LA\ s AEAS 2-6 =} 58.59 8.83
15 4103 ERE #&X ADF 2-7 % 58.67 8.91
16 4117 kB —3 FiE 2-8 B 68.40 18.64
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